[bookmark: _GoBack]Name _______________________________________
Period __________ Date______________________


POW # ____9________ 	Title: Deborah’s Gifts

Problem: 	Deborah had $210. She spent 3/7 of it on a gift for her niece and 
			¼ of the remaining money on a gift for her nephew. How much money
			did she spend on her niece and nephew combined?


	1) Rewrite question as a sentence: 

_________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________




	2) Show work	a) Label __________		

                                         b) Model  __________




























	3)	Mathematical practice # ________7_______

1) I can understand the problem and persevere until it’s solved.

2) I can explain what the problem is asking me to do.

3) I can build valid reasons and give my peers helpful feedback.

4) I can show the problem using models and visuals.

5) I can use tools and resources to help solve the problem.

6) I can solve the problem accurately.

7) I can use patterns AND organization to solve the problem.

8) I can look for patterns to explain my thinking.


Question:  What pattern do you see between the numbers in all the boxes of
                     your bar model? Explain.

 Response: ______________________________________________________________________________________________________________


___________________________________________________________________________________________________________________________


___________________________________________________________________________________________________________________________


___________________________________________________________________________________________________________________________


___________________________________________________________________________________________________________________________


___________________________________________________________________________________________________________________________


___________________________________________________________________________________________________________________________


___________________________________________________________________________________________________________________________


   Extend the question: _________________________________________________________________________________________________


___________________________________________________________________________________________________________________________
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